光學作業 應物三甲 0932363 沈帛寬
Problem 7-11

Sodium light (589.3 nm) from a narrow slit illuminates a Fresnel biprism made of glass of index 1.50 . The biprism is twice as far from a screen on which fringes are observed as it is from the slit. The fringes are observed to be separated by 0.03 cm. What is the biprism angle α? 

Sol：
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Thus 
[image: image2.wmf](

)

(

)

(

)

(

)

(

)

(

)

(

)

1

2

1

2

1

2

1

1

-

+

=

-

+

-

-

+

+

=

D

=

-

+

n

d

s

d

n

d

s

d

m

n

d

s

d

m

y

y

y

m

m

a

l

a

l

a

l



[image: image3.wmf](

)

(

)

1

2

-

D

+

=

Þ

n

y

d

s

d

l

a


We know that 
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